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1. Solve the inequality 15— 2x> 9. Graph the solution set.

In set notation, the solution is {x| } (Type an inequality.)

Graph the solution set. Choose the correct graph below.
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2. Find the following for the function f(x) = 3 + 4x - 3.

(a) f(0) (b) (4) (c) f(-4) (d) f(-x)
(e) —f(x) (f) f(x + 3) (9) (5% (h) f(x + h)

(a) f(0) = ' (Simplify your answer.)
(b) f(4) = R (Simplify your answer.)
() f(-4)= (Simplify your answer.)
df-x)= | (Simplify your answer.)
(e) -f(x)= (Simplify your answer.)
0 fx+3)= (Simplify your answer.)
() f(5x) = (Simplify your answer.)
(h) f(x +h) = (Simplify your answer.)
Answers - 3

61
29

3x2—4x—3

-3 -4x+3

3x% +22x + 36
2

75x% +20x -3

3x% +6hx + 3h2 + 4x + 4h - 3

ID: 1.1.43
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3. Find the domain of the function.

f(x) = 4/2x - 10

The domain is 1 (Type your answer in interval notation.)

Answer: [5,00)

ID: 1.1.59 _
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4. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

X) = 5x+4; g(x) =3x - (/'L//k() - .
L el /\//rf SGx) QL_)}’)?(MV;

(a) Find (f + g)(x). (5)(’4(()—1‘ @,‘( 7) (p& ﬂO)
— s

(f+a)(x) = (Simplify your answer.) $x’¢ _'7‘_34'__? (//
FX.

What is the domain of f + g? Select the correct choice below and;" ssary. fill in the answer Box-to. complél'/your

choice. .
(E—9)69
O A. The domain is {x| }. ”/Q'} — 96K) <
(Use integers or fractions for any numbers in the expression. Use a comma to separate |
answers as needed.) (g_{ {9{ ) . (3)(’7) _ el

O B. The domain is {x| X is any real number}.

S+ —23XF7 <
(b) Find (f - g)(x). N 3
C 2t =7y
f-g)x)= (Simplify your answer.)

What is the domain of f — g? Select the correct choice below and, if necessary, fill in the answer box tii-“complete')?ﬁfx?

choice. ( /; 5 ), Y] <

O A. The domainis {x| } é{/ ¢ /(GC) < < VWit

(Use integers or fractions for any numbers in the expression. Use mma o separate e 00 /7&
F N}

answers as needed.) XA T ) -
O B. The domain is {x| x is any real number}. ] .
[ext—35sA+l2x =L 8=
(c) Find (f+ g)(x).

——————
(fe))=_ (Simplify your answer)Cyf’( -3 7("’ Yy < /

What is the domain of f« g7 Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

N\

O A. The domain is {x| } -
(Use integers or fractions for any numbers in the expression. Use a comma to separate % 5)( "’7 G

answers as needed.) g —7 77T d _,47
O B. The domain is {x| x is any real number}. (’f ')/) Z X 7 35 - 7

(d) Find (é](x). //:é;(_]_ = // / __%,{( — %
H %)= : X = .;—

(Simplify your answer.)
your choice7

f
What is the domain of E? Select the correct choice belo —#-necessaTy',T ilin the answer;box to compl

74%//: T3 Irh G
O A. The domain is {x }
(Use integers or fractions for any numbe f in the expression. Use a comma to separate

answers as needed.) _{_?)(?) g(y) ,_.3
p 5)(%) = 2

—

7

-

O B. The domain is {x| x is any real numb

(e) Find (f+ g)(4).

3 of gs\w/ﬂ_‘i’_‘_ 97372079, 3734 PM



finalm1314COCO03 1sulllljjRZZ05-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math
/) = x|
Y—9)(2) =2 @)t/ [
(f-9)(2)= (Type an integer or a simplified fraction.) /—-—c/ (7. ) SL ™ / / /
. L/——g)(t) /S \\C

(9) Find (f+ g)(3).

(fe@)®)=__  (Typeaninteger or a simplified fraction. )// j/‘k/ / f')( ..--«(f ;/( C’ X

(h)Find[ ](1) ‘.cf 3) /y(;) _f(](;) /0’
[iJ (h=__ (Typeanintegergra 5.4 ﬁ;ta{{? = #4574 /’( 8 ) —& ;_f;) Zx
g f ax /35 — 67 4

Answers 8x— 3

(f+g)4)= (Type an integer or a simplified fraction.)

(f) Find (f- g)(2).

B. The domain is {x| x is any real number}.

2x+ 11 " e 4
B. The domain is {xl X is any real number}. (’/’(f—/}( ) e 3/_ 7

15x% - 23x - 28 / { M

B. The domain is {x| X is any real number}.
5x +4 /

e i} G5

(Use integers or fractions for any numbers in the ex;

e answers as needed.)

15
38
9
T4
ID: 1.1.
5. f(x + h) f(x)
Find the difference quotient of f; that i IS find ————, h#0, for the followmg function. Be sure to simplify.

) = - 3x+2 /C/M) 3/)(44/-&_) ()( ~5x+1)

Ll L (Aeth g[',(_{_/}~31«-5£.—{2 ‘)(_13_&43;7
Answer: 2x+h -3 {’f'//\/é ,_fjé[' 'T'[? -—}é'—gl) 1T ")_(__;'f'__g_)_(_‘:__,._.f

ID: 1.1.83 X/?/)U\Thl 37— h +2- }C’é—eﬂ L"""/"/”"ﬁ\\‘
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6. Using the given graph of the function f, find the following.

(a) the intercepts, if any , “ ( )
(b) its domain and range (5 ") | 7/

(c) the intervals on which it is increasing, decreasing, or constant |
(d) whether itis even, odd, or neither

o) 2 20)
\)’0‘7/)}/ U,J\n g l } </2, (’
o~y N n o 5‘/‘:'"_’
(a) W}Jat are the :@ceptg') )( : \ &
(/Z,d_) ﬁ/ ()) (0//)

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

(&) The@omainis /=% 1 e ([l risarl
(Type your answer in interval notation.) =y

sl resd
The[éngpis /O f

(Type your answer in mterval notation.)

{c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

= 5 3(
(O A. The graph i{increasinﬁ on [-_—:2 ) = g . [2/
(Type your answer in interval notation. Use a comma to separate answers as needed.)
() B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

O A. The graph |s(t\fecr;;ﬁ"gon [’_“'3’ ”L\S /U "(

(Type your answer in interval notation. Use a comma to separate answers as needed.)

() B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

O A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(O-B. The graph is not constant on any interval. ==

(d) The function is (1)
(1) / even._,:‘-
() odd.
() neither odd nor even,

50f28 9/3/2019, 3:34 PM
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Answers (- 2,0),(2,0),(0,1)
[-3.3]
[0.3]

A. The graph is increasingon [-2,0],[2,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on ' [-3, - 2],[0,2] ..
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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7. The function f is defined as follows.
-3x+5 ifx<1

3x-1 ifxz1

f(x) =

(a) Find the domain of the function.

(b) Locate any intercepts.

(¢) Graph the function.

(d) Based on the graph, find the range.

(a) The@g—rﬁ/_aiﬁ%bf the function f is é >, 0% /) & (/-t f—/C J I/I)L £ >

(Type your answer in interval notation,
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

ey p )
O A. The@c_;pf(s) is/are [O/ b3 )
(Type an ordered pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.

(c) Choose the correct graph below.

o VP
(d) Thé’ange of the function fis [ 5 ) /Z )‘ ' l =

(Type your-answer in interval notation.)

Answers (- c0,00)

A. The intercept(s) is/are (0,5) ; (/l _5/(
(Type an ordered pair. Use a comma-to-separate answers as needed.)

T Drephe

f u\,/w‘«/(/"/
e i\ Cel el
-10 o ¢ — /L \\H \“
feotm €X |\
> 7‘/ Mme, < /2 | |
o "
o }11 “ . B WIN ta/s
ID: 1.4.33 J < /2 — /'),1,1,) Z

— \_; /'/:I : O’/ =T
; \'h - --3)(”7"(- Ta ({ZL) Cialy
2 W) Y C‘/{J'(

= ‘3)//—- *—"’(/(?/) Cireq

7 of 28 ——— = 9532019334 PM—
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8. The function fis defined as follows.

1+x ifx<0
f(x) =
X2 ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(@) The :@v‘;?ri of the function fis '(L(é’":" 7 ) ;_Lr( { f—"( ) V1 )( i )

(Type your answer in interval notation.)

(b) Locate any @ept_g. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A-mlevns F e (7,
e

O A. The intercept(s) isfare r: ’/ U‘) @) U/ ) S P-M-"ﬂl

(Type an ordered pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.

(c) Choose the correct graph-of f(x)-helow.
e

(d) The'range of the function f is
(Type'youranswer in interval notation.)

Answers (— c0,00)

A. The intercept(s) is/are (-1,0),(0,0) . N
(Type an ordered pair. Use a comygiﬁeﬁmte ansfn}éﬁ.\_ag needed.)

(= 00,00)

ID: 1.4.37
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9. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) Fx) =10 +3 (b) G(x) =f(x + 2) (c) P(x) = —f(x)

1
(d) HOx) =f(x + 1) - 2 (e) Q(x) = —f(x) (f) g(x)=f(-x)
3

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x) = f(x) + 3 below.

O A, rIr";.

‘_"M__“____ .
_-(b).Choose the correct graph of G(x) = f(x + 2) below.

,,-”"J LT_J/A. | O B. O c. O D.

(d) Choose the correct graph of H(x) = f(x + 1) — 2 below.

*fa/ A. O B. Oec. O D.

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

90f28 9/3/2019, 3:34 PM
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Answers

ID: 1.5.63
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10.
(a) Graph f(x) = |x - 8| - 2 using transformations.
(b) Find the area of the region bounded by f and the x-axis
that lies below the x-axis.

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that
| square units.

lies below the x-axis is
(Simplify your answer.)

Answers

\.7.—;.,1f,¢'a“bv /-8

40 -8 6
,B..
10
) /(A A Yo
IRy A

ID: 1.5.81
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11. Find the zeros of the quadratic function }actorih'\'g What are the x-intercepts of the graph of the function?

F(x)=x% = x - 42 (K *G>Q(‘— 7)

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an mte?{ ora smylﬁed fractlon )

- The zeros and the x-intercepts are d|fferent The Zeros are

) the x-intercepts
A

HP=6 =0T g (7 =IT]
i) B, The zeros and the x-inter pts-are-thie They are )(—-":q?‘*-\j LAl

Answer: B. The zeros and the -‘nteftféﬁf?i/a;e the same. They are -6,7 .

ID: 2.3.17

— —_—
S

12. Find tl'gfé‘rbé of the quadratic functlon by factormg What are the x-intercepts of the graph of the function?

(x)=3x% - 4x - 4 3/\’/ i =
J (foQ& —

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Typa an mtegieor a simplified fra;tion.)
S = e,

— O
(1 A. The zeros and the x-mtercefp;ts are‘the same. They are
—
B The zeros and the( antercepts are different. The zeros are , the x-intercepts
(0 B. 5 N s
&% S =L . Xl =27
7‘-. = ": C Z \_._//
3 C VQ/ —
—
Answer: A. The zeros and the x-mtercepts are the same. They are - 3,2

< 5
ID: 2.3.19

13. Find the zeros of the quadratic function uslng the square root method. What are the x-intercepts of the graph of the
function? (){ﬂ S_) — 0k =
900 = (x- 5 - 36 (/- 5)

Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed) ,\/ . ) it ™l i [/3(

) The zeros and the x-intefcepts are different. The zeros are , the x-intercepts
A

- 7" are )(/ et i 6

y B. The zeros and the x- |ntercepts are the same. They are

i e

Answer: B. The zeros and the x-mtercepts are the same. They are 11,-1

)/’ C—5 < G"fs @/( )('-"3 ,fb = —'6 :_f-/\,

ID: 2.3.29 C/ __/[ ,__yJL_ Q)( R\J
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C\_ ) e / 7 A -——-—-,-— oL f—ﬂ/
14. Find th@o‘f the following quadratic functien- bymnfﬂﬂmg:ﬂwsquare What are the x- |ntercepts of the graph of the

functio /‘:ff/?)j"_({(fj@'&/ —.‘/ 7‘(//6")"54 2 ~M
A e

Z Ct) T

e
Seiect th‘s correct cfwlce below and fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

f(x) x +4x 8 — .
—Y Ty, 3

separate answers as needed.) Y "ﬁ'm U/Tj_
P

"y A. The zeros and the x-intercepts are the same. They are . 2 -
- . . RS el &

N The zeros and the x-intercepts are different. The zeros are , the x-intercepts ~ . =z g
() B. >
are . - - ’Z‘l’ + Y ﬁ

- , t 2 ‘,/

Answer: A. The zeros and the x-|ntercepts are thwe’/ 2+2 3 -2-2 3 Q

ID: 2.3.33 CZ 2 \/:/O/C @

o
15. Find tr‘e‘;zer@ if any, of the quadratic function using ti{e quadratlc formula W‘hat are the x-intercepts, if any, of the graph

of the function? Z,
2 7{ ) AxX Cr Gt
f(x)=2x" +1+6x Lo & = /
o=, 5 <6
Select the correct choice below and, if necessary, fi f Il in the answer {ox to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

() A. The zeros and the x-intercepts are the same. They are

~ The zeros and the x-intercepts are different. The zeros are , the x-intercepts
_ B.

are

_-—“"'d-h__-—_ —_ B
> €. There /g,ﬁo’ real zero solution and no x-intercept.

< Va— é—+ 48y /},_.-7 |
L& _— -3+«/_ -3- «/_

Answer: A. The 26705 AT e % %-intercepts are the same. They are )

x=-(¢) *WM

— N I ) < aia
)(': -6 ”"(/)72? /( - w
‘ =

ID: 2.3.47

A

X = —
Ve T
“ __d_____——z/——-'_

9/3/2019, 3:34 PM
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For the quadratic function f(x) =x° - 2x - 3, answer parts (a) sol”
through (c). “
16
(a) Graph the quadratic function by determining whether its 12_-
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. 8-:
Does the graph of f open up or down? 44
1 X
down 20 16 92 8 4 ] 4 & 12 16 20
up 4]
What are the coordinates of the vertex? ‘3*_-
12-
The vertex of the parabola is . ]
(Type an ordered pair. Use integers or fractions for any 16
numbers in the expression.) ?0:

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

() A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

(O B. There are no x-intercepts.
What is the y-intercept? Select the correct choice below and, if

necessary, fill in the answer box to complete your choice.

O A. The y-intercept is
(Type an integer or a decimal.)

(O B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is .
(Type your answer in interval notation.)

The range of f is !
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval -
(Type vour answer in interval notation.)

16 of 28 9/3/2019, 3:34 PM
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Answers up
(1,-4)
x=1

A. The x-intercept(s) is/are ' 3,-1

A. The y-intercept is -3 .(Type an integer or a decimal.)

(_O0,00) , = "(
I

[-4 )

[1,00) /(""'AL"’( =

(- 0,11 7/}44,;, T /o
ID: 2.4.37 gy =0

17 of 28

(Type an integer or a decimal. Use a comma to separate answers as needed.)
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17. Determine, without graphing, whether the glven quadratic functlon as(a mamlue or a minimum value.and.then. fnd
the value. [’_'\ @ 0/4",«' > ugE—S0 LL,S aQa m G
f(x) = ~2x° +4x -9 ‘ T o= — T—_:;
Vel = (R, f(£)) a=—, bewc=-

Does the quadratic function f have a minimum value or a maX|mum value?

) The function f has a maximum value. l/r;/[/y\ ,-_/ % —(Y) )
2 2 )

- . - —t/
) The function f has a minimum value. ¢t

What is this minimum or maximum value? o ':-‘:—I /( /
(Simplify your answer.) (l /(']) ‘ o
(// —7

Answers The function f has a maximum valu(’ ’2( ” _f%‘) ﬂ/
-7 =( /) L (D(D+¥(1)=2)
=y A+ ) JeX
ID: 2.4.59 ( (. J ‘7\ S
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18. Use the rational zeros theorem to fnd all the real zeros of the poiynomlal function. Use the zeros to factor f over the real

numbers. / ot w591 o
— — —7’ O~y O (< 5+
fx) = x> = 2x% - 13x - 10 <’() />( '2)( /3)( /_:;L;//__ g
Find the real zeros of f. Select the correct chaice below and, if necessary, fill in the answer box to Egmplete your answer.
WSt S7abetict duvise 770, TS )2 U7/
A, x= V"? X': - / _L’_‘—t/

(Simplify your answer. Type an
_ fractions for any rational nu
needed.)

act answer, using radicals as needed. Use integers or

) B. There are no real zeros.

Use the real zeros to factor f. = =/

@P/{L f/j)ﬁ) I’)-‘-.-

(Simplify your answer. Type your answer in factored forrf. Type an ¢xact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the é;pressuon )

T X —Io = O
Answers A.x= =2, =-1,5 )(,(;\) K/"“.S 31:'\._:

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)

(x+ 1) (x+2)(x-5) )(-—(—’ é zZ O Ua’( e

K—/Z as /Vf XS £ Z07S
ID: 3.2.45 Y =-Z 2 on ‘Di i
Q_,/f

AV darts 3

F= \ T

| &

.

/
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19. Use the rational zeros theorem to find all the real zeros of the polynomlal function.
number - "‘/ e 4
ers. | i L Vi ? l B e f
f(x)= x* +6x° = 11x? - 24x + 28 - = 2¢ @ YXes, t/t/ 7 £ gt
=, 7 7 2 @) 1

What are the real zeros? Select the l’rectchorce below and, if necessary, fill in the answer box to complete your answer. _--_x\
- ) - - 7 o
z.ll 1 =4 = Ty T) T, T/
B _LLiﬁ Uy Tyl

L)AL x= :
(Simplify your answer. Type an exact a!llwer ﬂlj‘g écﬂals needed Use integers or
fractions for any rational numbers in thé'e i(pressmn Use a comma to separate answers as

needed.) X ‘fQX'f/y&

() B. There are no real zeros. ' C>< 7" ) R 1 55

Use the real zeros to factor f. )(,fz Z’ O C"/( )(""L 7 ’
(0= (A7 —¢ co—t O X+1—7=Y/

(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expression.). d 7 /{/ e 7

C A=-2¢
Answers A. x= =-7,1,2,-2 :

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma tob}eparate answers as needed.)

(X+7)(x—1)(x+2)(x-2) } ,_///
ID: 3.2.53

J V)
4
——————Fry /-—*——-7—---- Ty, —
20. Solve the equation in the rea ‘numbe system l ¥ 7 "/f 4 é

se the zeros to factor f ove}the real

'r-.:’,j", (ZF

Y= /)J-

7
— 77 —C
2x* - 23x% + 75x° - 88x +28= 0 2 Vl 32{ y / ry
~17 31 /Y

What are the real solutions of the-equation? Select th correct choice below and fill m any answer boxes in 9@
i A ( ? —ly

O A x= “y 5 - '"}’ - (L

(Simplify your answer. Type an exact answer, usmg radicals as need . Use mte er
fractions for any numbers in the expression. Use a comyma to separate answers asfieeded.
Type each answer only once; do not duplicate answers in the case of repeated roots. )

() B. There are no real solutions. &)\/ "S )( "ILZ
x —I) & — Z? =
Ix—| =0 O X—=2 =<

HE

Answer: A. x = E’ 2,7
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions forany—
numbers in the expression. Use a comma to separate answers as needed. Type each answer only once; do not

duplicate answers in the case of repeated roots.) —F ity ~ L
VY Y

ID: 3.2.67 2X= ) //Z

19 of 28
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21. Find the&emcai hm‘tzr.mta;lJ and oblique asymptotes if any, for the following rational function.

=
— _,.-’/

Select the correct choice below and fill in any answer boxes within your choice.

() A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

() B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

) A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

() B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

) A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

() B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -2 .(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 20 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

y2s
ID: 3.4.45 / (/JK) /{ 7‘);,

At )(%2 == =~
(2= 797¢

2 o)( A/)/J/Kf“'/”

/= /nﬁzh.t-/ﬂm,

20 of 28 : = = 9/3/2019, 3:34 PM
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22. For f(x)=7x+6 and g(x) = 8x, find the following composite functions and state the domain of each.

21 0f28

(@) fog (b) gof (c) fof (d) gog
(@) (fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo g is {x| )2
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of fo g is all real numbers.
(b) (@ o )(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domain of g o fis {| I
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
(c) fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo fis {x | 3.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o f is all real numbers.
(d) (@og)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of g o g is {x| |2
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o g is all real numbers.

Answers 56x + 6
B. The domain of f o g is all real numbers.
56x + 48
B. The domain of g o fis all real numbers.
49x + 48
B. The domain of f o f is all real numbers.
64x

B. The domain of g o g is all real numbers.

9/3/2019, 3:34 PM
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4’he function f(x) = 8x ~ 2 is one-to-one.

(a) Find the inverse of f and check the answer.
(b) Find the domain and the range of fand f 1.

(c) Graph f, f~ L , and y = x on the same coordinate axes.

-1
@f (=
(Simplify your answer. Use integers or fractions for any
numbers in the expression.)

(b) Find the domain of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

) A. The domain is {x[x%ie }
() B. The domain is {xlxs 2
() C. The domain is {x|x2 }

() D. The domain is the set of all real
numbers.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

) A. The range is {y|y¢ }-
© B. Therangeis {yly2 2
© €. Therangeis {y|ys 2

(O D. The range is the set of all real numbers.

Find the domain of f 1. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

© A. The domain is {x|x2 b
© B. The domain is {x|x# 3
© €. The domain is {x|x= b

() D. The domain is the set of all real
numbers.

Find the range of f 1. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

) A. Therange is {yly# 2
O B. Therangeis {y|y$ }
(0 C. Therangeis {y|yZ }

() D. Therange is the set of all real numbers.

(c) Graphf, f~ 1 , and y = x on the same coordinate axes. Use
the graphing tool to graph the functions.

20f28 BETT et

20 16 <12 8 4

X1
yaxa
g X3

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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12
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x+2
Answers
8
D. The domain is the set of all real numbers. g |
D. The range is the set of all real numbers. -~ 4
,_‘-f 4 /l/ / —_

D. The domain is the set of all real numbers.

ID: 4.2.53

. —— q)z,(_.ﬁ ;%_(j_z
24. Solve the equation. (Z P 2

16—x+33

= X _,9; / 5 5 7 ) ' et =
128 2 X +13¢ - Q X @ I\//D
The solution set is ;} : _ o

(Type an integer or a simplified fracﬁc_;( L:s,‘e a comma to separate answers as needed.)
Answer: 12 (‘-Cf )( '7(— / 3 Z < 7)(
— S s JFT—LB? T T~/ 3 2
ID: 4.3.73 — Y — 7 )\/. - / ,7 a
S SV SV By B

___/]/( - =/f32
_ X - =EAL

— — I/

Cx= 12 >
9/3/2019, 3:34 PM
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25. Solve the equation. {C> /Z )(Lf/) - = 3’*‘.
log 5(2x+1)=5 £ &__##’/,;’7

Change the given logarithmic equation to exponential form. ) Ky = 2){/{ / ;/(’ W/ I/«
A -
(Type an equation. Do not simplify.) Z Z ’ Z 7 = Z{-f /

The solution set is { ¥ 3& - Z/’f /

(Simplify your answer. Use a comma to separate answers as needed.)

Answers oy s £ 255 30 —( T ex7(—| l//
31 3( z ¢ K

2 -

2

ID: 4.4.91-Setup & Solve

26. Solve the logarithmic equation. é 0) 6(/(/6_{ 3) - / - ('}q'“ (L x
) (.oj(x]»r(u> (,(4-3,); /
| + log (x +3)=1 /~ iz / : —
og x+ log (x Ve (X3 (U‘)('Z,) _‘,_.(__U) Gri)=/
Determine the equation to be solved after removing the logarithm. ’ (’u-' /52 — {
syt ) uy(e »‘1'*"‘ e
(Type an equation. Do not simplify.) 0?‘ ,\/Z' = ?X’”'/ - \“\ O__’E_’\_{_c__.__-———-—'——(z/w
N ) A
Select the correct choice below and, if necessary, fill in the answer box to cdmp)lete y?ur choice. \ ({ _ ) /
. { (i: (K—2)K+S) [gj(/s)#\y L) =/
+ The solution set is __ Il e =) ot e »
(Simplify your answer. Type an exact argwer. ésa a comma ’g fsdepara)tg anss.wers gé [ Uj(—«s’ ) ~ (4-9 / "Z/ =4

needed.) T e S
() B. Thereisno solution.é’/,;%}j-—‘%/(( /_(_"f - U' \/ //?A D g’lj?/

GS i /
Answers x(x+3)=10

. —

) SR
A. The solution set is { 2 }

(Simplify your answer. Type an exact answer. Use a comi o separate answers as needed.) 7 7
'éfz, [ /o (A~ («'/; %/ < Cos @g/ ‘;}
ID: 4.6.17-Setup & Solve——— — —— — -
— R —— — pal e s

27. Find the amount that results from the given investment. [//
. v

@0; ir%vestezét 4% compounded (ﬁérterluﬁ’er a period o(:_i_igar_;y e
- | Q=750.730001) |)

After 3 years, the investment results in $
(Round to the nearest cent as needed.) } A//
(0 3

< 1+ 77

_5 O
A—ﬂc/o“—’(/'f »—;;,“") /
ID: 4.7.7 A: y(}u /,"f ‘,_07%{_
A =00 (1 .04) (1)
26 of W,f——_&ammwm— -

Answer: 450.73
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J{y S o—=> L f-n, A< pa
28. How long does it take for an mvestmentt@e’{nvalu ifitis mvested{O% mpound quarterl Compounded

al 0t

continuously? 2007 /(/U(/*T g %) N,/(/“ Zic
At 20% compounded quarterly, the investment doubles in about . years: N Zv\/ — /_L;(“_
(Round to two decimal places as needed.) ‘\ /v'f Z al
N . 4 5
At 20% compounded continuously, the investment doubles in about years. _\'"\\ 2/ = € évl‘-’ 9
(Round to two decimal places as needed.). . 2 é{/ / 2) Z/Z
200 L (W 'f 0

Answers 3.55
3.47

Yata) ~ B 14 azg
ID: 4.7.35 M) L/{:“J\ (/‘*'

= — e
29. How many years will it take for an mLtiaL)r\westment of $20,000 to grow to $70, 000’7

ere
compounded contmuously[ /ﬁ/-‘i 700(/} /UOUU C (3 5) C’j;’(ﬂ/

It will take about ~ years for the investment to grow to $70, 000 ﬂ‘f/ é‘_’ (3 >) -~ QYL

.\

(Round to two decimal places as needed.) /00~ - Z_E_)._O_i—j—-*—— : 'l b e
ﬁ L)a"‘)} é .__)0(’\) > Ak, 3 ) s _.—E’;-{——'
Answer: 31.32 C‘-’ e AR

b ¢ 3 ; y ,(v,(l;’w"// 37 3/70792/=é 2wy
ID: 4.7.41 /(4“( ¢ 2 ) 2 ,.ycfg__ﬂ,-l v, \/37;5’9 \

LS

30. Solve the system of equations. If the system has no solution, say that it is inconsistent. /6? /<
— & 3
4x -3y=3 3 Lf)( 37,_ S‘?‘“ /(;K Z
= Z
Bx +y =18 /5’,(1‘2/ 7 f
Select the correct choice below and, {f néce ary, fill in any answer boxes within your choice.

O A. The solution of the system is x = andy=
(Type an integers or simplified fractions.)

(O B. There are infinitely many solutions. Using ordered pairs, the solution can be written as

{(X,V)IX N , y any real number} ,s
. =5 —
(Simplify your answer. Type an expression using y as the variable as needed.) (7/[ 9

) €. The system is inconsistent.
#(3)-37 -

Answer: A. The solution of the system is x = 3 andy= 3 . / Z —_ 5 7 e
(Type an integers or simplified fractions.) - g {// L

ID:?_.1.33 — ——— | | _’; 7 N
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31. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

X=2y+3z= 21
2x+ y+ z= 7
=3 +2y-2z=-23

Select the correct choice below and fill in any answer boxes within your choice.

O A. The solution is x = Y= ,andz= . (Type
integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy2) | x= y=_ _, z any real number}.

(Simplify your answers. Type expressions using z as the variable as needed.)

() C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x,y,z) l x=_ .y any real number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

(O D. The system is inconsistent.

Answer: A.
The solution is x = 3 VY= -3 ,andz= 4 . (Type integers or simplified

fractions.)

ID: 6.1.45 - iy ’ .
Z/VOH/M‘J’”_{) éf’c((-4/ /2")/ }X //

g 2 4
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